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Bl FIF Laplace BHRARMI HFE:  raoheo

V(@) +@y()=0; p0)=0, y'(0)=c.

iR (1) 2 Y(s)
Xt

)l

=L 1y@®)],

S EN Laplace T #:, &

s?Y(s) = sp(0) - y'(0) + w’¥ (s) = 0,

RN

() KBLLITTHE, 15 Y(s)=

(3) =K Lapl

5, B8 s*Y(s)—-w+ 'Y (s)=0.
Qu
st+ e

ace ¥ T &, 15

(

1) =% [Y(s)] =sin «t.
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T

%1l F|FH Laplace 22K f# L7 1% -
x"+3x"+3x"+x=6e7"; x(0)=x'(0)=x"(0)=0.
1) 2 X($)=L[x(0)],
X 7 FE P EX Laplace T #, FAw1E, 15
s X (s)+3s* X (s)+3s X(s)+ X(s5) = i i =z
_ |
Q) RBWTTIE, 18 X(s)= s i '1)4 :

(3) 3K Laplace i# T #, 15§

x() =L NX(s)|=Fe™.
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5 F|H Laplace 22 H KM 73 T FEA -

P230

- X'+ x()-y@)=¢',
o {y'(t) +3x(1) - 20() = 2€',

x(0) =1,
y(0)=1.

B O)2XE)=LIx®], Y()=L[y@®)],

)l

X7

(s+1)X(s)=¥(s) =
I

L3X(s)+(s—2)Y(s) =

(s X(s)—-1+ X(s)-Y(s)=

sY(s)—-1+3X(s)-2Y(s) =

S

2 ZH I EX Laplace T %, FRN 491

1
s—1°
2

s—1°
S

9

+

s+1
s—1°
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18] x'(t)'l'x(t)_y(t):eta X(O):l,
o {y'(t) +3x(1)-20(1)=2¢€',  p(0)=1.

Q) RBHARBOTIEA, 17

1 1
X&) =121 W: s—1°

(3) 3K Laplace i# % 3%, 18 x(r) = y(t)=¢€'.

(S+DX($)-Y($)=-Z1,

+

| 3X(5)+(s—=2)¥(s) = z_i .
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%l F|H Laplace 28 #23R #1535 R 4H. -
{x'+y"=5(t-1), x(0) =y

2x+y" =2u(t-1), y'(0)=»"(0)=0.

0)=0,

1) RXE)=LI[x@®)], Y(s)=LI[y®],

X 7 FEZH I B Laplace & 3%, F

{SX(S) +s5*Y(s)=e"*,

Sl

2X(s)+5 ¥ (s)= 2 €™,

@) RIRH TG, 18 X(s)= 1€,

(3) 3k Laplace i# T 4%, 1§ x(¢)=u(t—-1), y()=0.

FR A

Y(s)=0.
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1-¢, 0<t<1
i z%@%ﬁzf(t):{ fr D15

; £

B Zkl BaARARZXL KA,
ML4E Laplace % 3#HI5%E X,

LIfO)1=]," fye™de = [ a-ne™di

A x=1—-t¢

=)

_opl
e Sjoxesxdx

—e ¥ [xe’* —j; e**dx]

'] Laplace Z8H#f, 232 419.21
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& ¥ 1l

— «ZI‘EI$1§J
- (1-¢, 0<t<1
o g1 05

R ZE2 PR ERELE,
mE, fO=A-Hu@+@E-1)u-1)
=u(t)-tu(@)+(@-Du-1),

'] Laplace Z8H#f, 232 419.21

LluOl= . Llru)]= lz [0
1IN (t=D)u(z-1)
A O T i f 38 3R P \ >
AH/ LIf()]= = 12 + 12 e’ (11:1\‘;\u(t)t
s s° s
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5 RE% f(&)=re sin2¢ [ Laplace 3 #t.

2
s> +22 ’

WRIEZAE R, B

¢ [e ' sin2¢] =

ik &1 L sin2¢]=

2
(s+3)2+4°

B, MIELLBGFHER, H
d 2

¢ [te M sin2t] = -

_ 4(st3)
[(s+3)* +4]*

ds [(s+3)2+4]
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& ¥ 1l

Bl . F(s)= 1 > R f(O)= ¢ F(s)].
s(s—1)
e i1 AREEERME,
1 1 1

F(s)= S - o + 5-1)

> = f()=1-e'+re'.

72 A BB E KR,
s, =0, s, =1 33N F(S) I —r 5 =W # &,

f(t)=Res[F(s)e*, 0]+ Res[ F(s)e*, 1]

st st
+ ()
S

s=0

_ C
(s—1)7

=1-e'+re’.

s=1
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1
s(s—1)

B A k3 FIRBARE IR

Bl B4 F(s)= — R @)= LTNF()].

-1 -1 —11
=g 0 1= 10

—ze'[1= j;re’Eldr =1-e'+re'.

Zika MABPHEAB. L] (GO)]= g0,

1 1 ot -1 1
f=¢ [S e |, £ oo 1

t
:jﬂte’dt =1-e'+zre’.
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(Il

] Laplace 22 K BT 0 7 12«

x"+4x'+3x=¢e”", x(0)=x'(0)=1.

R (1) % X(s)=2L[x(0)], SFTHFEFLE Laplace % 3%,

SR,
s°X(s)-s—1+4[sX(s)—1]+3X(s) =

1
s+1°

Q) KREHFE, 15

s> +6s+6 7 1
+

3

X(s)= =

(s+1)2(s+3) 4(s+1) 2(s+1)> 4(s+3)

. s , 7 -, 1 _. 3
(3) 3K Laplace # T 3%, /5 x(t)=—e'+—te'——e

4 2 4

-3t
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% F]H Laplace 28 # R fE il 3 5 fE:  p2so#19.18
x"(t)-2x'(t)+2x(t) =2€' cost, x(0)=x'(0)=0.

R (1) % X(s)=2L[x(0)], SHHFEFLE Laplace % 3%,
2(s-1)
(s—1)*+1

HARNME, 8 7 X(s)-2sX(s)+ ZX(S) =

O 1 Ca )
@) RARITTR, F X@ = 7

(3) R Laplace # % #, 18

x()=27'[X(s)] =¢€ sc‘[ 1) -

I :tet f/_l[ ;

|=te'sint.

:et £
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% F|H Laplace 28 ¥R N5 T FE2H -
{y"—x”+x’—y=e’—2, x(0)=x'(0)=0,
2y"—x"-2y'+x=-t, yp(0)=)'(0)=0.

B Q) 2XE=LI[x(®)], Y()=L[y@)],
X7 FEH IZE Laplace & 3, FARAA#4E, 15
—-s+2
s(s —1)° ’
1
si(s—1)

~l

((s+1DY(s)—sX(s) =

PP S

L 2sY(s)—(s+1)X(s)=-—

() RIEXKH 428, 5

X(s)=
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(il

{yn_xn_l_xr_yzet_z,
2y"—=x"-2y +x=-1,

R (2) KRR F 4240, 158

] Laplace 28 ¥R BT 70 7 12

2 -
x(0) = x'(0) =0,
y(0)=y'(0)=0.

2s -1 1 1
X(s)=— » -~ 2 7 2
s“(s—1) s© (s—1)
¥(s) = 1 = 1 1 . 1 .
s(s—1) s s—1 (s—-1)
(3) 3K Laplace i# T ¥, 1§
x()=—-t+te', y@)=1-e'+tre'.
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%1 FIH Laplace 28 ¥R #E 77 7 FEAH -
{x”—x—Zy':e’, x(0)=-3/2, x'(0)=1/2,
x'=y"=2y=¢* yp0)=1, y'(0)=-1/2.
(1) X)) =L[x@®)], Y(s)=L[y()],
X7 FEH I E Laplace & 3, FARAA4E, 15

~

~al

(s X(s)+;s—;—X(s)—2sY(s)+2= 11 .

\sX(s)+i—s2Y(s)+s—l—2Y(s)=i3.
2 2 S

17



§ 9.4 Laptace F B i % R A 1% £ A BT

%] F|F Laplace ZZ# K ##I00 J7 R4 :
x"-x-2y'=e', x(0)=-3/2, x'(0)=1/2,
{x'—//—Zy=t2, y(0)=1, y'(0)=-1/2.

%(&ﬁ%ﬁﬁﬁﬁﬁ,ﬁ

1 3
X(s)=- = - +
(5) 2(s 1) s/ (5) 2(s ) s 25
(3) 3k Laplace 1# T 4%, 1§
3 t 1 t 1 2 3
H=—-"e'+2t, p(t)=—-—e'"——*+",
x(1) > y(?) > . 2
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Bl FIFH Laplace Z8#uRfRAR 5 7 42 .
P233

. f(®)=at=| sin(x—1)f(x)dx, (az0).

9.24

f (1) BT f()sing :j(:f(x)Sin(t—x)dx,
ﬁﬁhﬁﬁﬁi@fﬁ- f(t):‘”"'f(t)[sint,

Q)R F()=LI[f(®)], ETTFEMLE Laplace T ¥, 13

F(s)=a§ﬁ[t]+F(s)[£[sint]=az+F(s)E|21—+1,
S S
a a
F(s)= g
= F)= 5+ 4

3
‘ o ) at
(3) 3k Laplace ## % 3%, 15§ f(t)=at+T.
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B BREN m IR E AR R A, 7E = 0 B2 x G
whii S FyO(0) EFD, RUERIEHN TR, oo #1920
B () B IR 54209 x = x(F),
M5 Newton © £, H
mx"(t)=F,0(t), x(0)=x'(0)=0.

Q) % X(s)=¢L[x()], X HIEMILE Laplace T 3%,
HRAME, 15

2 F, 1
m s
(3) 3K Laplace % T ¥z,
b F,
AN YR EE TR N X (1) = ;"t-
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"B B WE TR R L BEEEES, 7E ¢ =0 B ZER E R
R E b, KB i(t). rsaroos P

- _
K
L
Ri)+Li'(t)=E, i(0)=0.

Q) 2 I(s)=L[i(®)], N HEMLE Laplace T %,

\ V4 ~ N ) / E
HARANA1E, 18 RI(s)+LsI(s)= o

_E  _E(1_ 1
= 1) = s(R+sL) R[s s+R}.

R
\ o . E -t
(3) 3k Laplace # % %, 1§ l(l‘):?(l—e L.
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Bl FREN m YRR BN k

[R5 8 — i (e ),

SR F ). EWRERILTE ks
RB x =0 WFFIEED, REWE rol

riEal A x(7).

e YA £

i (1) ¥ Newton & £ & Hooke © £, A[15

mx'(t)= f(t)—k x(t).

R 47k ) 32 5 L4

= (2) TN 5RO

L
\EE .

mx"(t)+kx(t)= f(), x(0)=x'(0)=0.
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e (D) mx"(6)+kx(®)= f(), x(0)=x'(0)=0.
2) 2 X(5)=L[x(®)], F(s)=LI[f(®],

X7

E PN EX Laplace T 4%, FRQAN#11E, 15
ms*X(s)+k X(s)=F(s),

il

‘ 1 o
Lay=") HX(s)= e Ds2+w3 [F(s).
— aJ ° \V4 2 >
G L7 5 s =sinant, SERFIEREE, H

x()=¢ [ X(s)] = [sin cwyz Of (¢)]-

m o,

23



. § 9.4 Loplace B b % R A 12 oA BT

ik 0% f(t) AL B, B IARFEFNAE x(¥).
Blde ZARE =00 B0 A A f(2)= Aé(t/), AR THE,
B, ARAGE AR

x(1) =

[Jsin cyyz 0AI(¢2)] N s
m o,

kx x(?)
A / m ot

= [Sin @)yt . f(t)\
ma,

—>>

oI, EEAGERNT, EHHEEED: RBH

m o,

AR R @y M o 777% F 50 B RIUE R B A RE

> (Matlab %+42)
24




L x;f § 9.4 Laplace T3t % B A IF 4 H 40 T




§ 9.4 Laptace F B i % R A 1% £ A BT

fff: #] Bl Matlab % 3L Laplace T 3£

O AR FH M Matlab 85 A T B4+, RET F AHEK
RIAT Lapra/:: T # 5 Laplace # T #%,

(1) F=laplace (f) ¥4k £ (¢) 217 Laplace & #%,
ﬂ—zé@éé% F(s)o

(2) f=ilaplace (F) x¥.&4& F(s) 247 Laplace 1 % 3%,
FHBEZEX f(1)o
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fff: #] Bl Matlab % 3L Laplace T 3£

B SREREL f(2) = Sl;lt ) Laplace 22 #t.
ﬁtjlg 7%)%'1&;—% . clear;
syms t;

f=sin(t)/t;
F = laplace (1) ;

474K F=atan(1/s)
Hrb, atan N IEVIRZL

ey _ 1
¥ 5 %F: F(s)=arctan .
s

/
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fff: #] Bl Matlab % 3L Laplace T 3£

s2+2s+1

Bl SReR#E F(s)= (25 +5)(s_3) E‘JLaplac;E'E%?ﬁ&o

e A RA: clear;

syms s ;
F=("2+2k+1)/(s"2-2K+5)/(s-3);
f =ilaplace(F);

AT E R . = 20exp(3[1)-exp(t)LLtos(2[)+exp(t)[sin(2[1)
HAr, exp ATEEREL

HEET: f(©)=2e"-e cos2t+e'sin2z.
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